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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVi
dFVo

—o—
+

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

30.0

21.5

25.0

22.5

20.0

17.5

15.0

12.5

10.0

day

ECB*10%

fz_stock ec
ECC

-3 -
—
——

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

10.0

day

3500 -
3000 -
2500 -
2000
1500 ~
1000 -

o o o o
o o o o
(3p] ™ [3e] ™
Y} Lo [Ye) Lo
~ r~ ~ r~
N N N N
o o o o
Te) Te) Te) Te)
N N N N
A—
Y} Lo [Ye) Lo
o o N = o
N N N = N =
> > > — > —
© ] © o
© © © ©
o o o o
o o o o
N N N N
Y} Lo [Ye) - . Lo Juns
~ - R =0 == o . e
— — — —
o o o o
T} Tp) To) Te)
— — — —
= =
o] o e} o
N o N (= N ¢,
32 : N
o
*
[2a ] [} > (@]
I ) [a< [a4 =
a o [} [T L — Y4 ——
o o o o
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
— o [=2] [ee] ~ © o o o o o o o o o o o o o o ~ © I9) < ™ o Te} o o o o
™ N N — — — — — — o o o o o

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

10.0

day



[T, "Topt’], ['RH', "RHopt’], [ ETcl’, ’optETcl’], 'LAl’, ’optEtRate’]

"lopt’ ],

Plot [['I",

lopt

—

—

I

i

A
TV

\

N LMY

-

o

450

400
350

300

250

200

150

175

150

125

100

75

50

25

RHopt

LAT

+ —_— (0]
Q ) +
o — @©
— T — w o
o o + +
— o )
uw o +
Q
| | °
e o) _ e} e
~ ~ ~ ~
— — — —
\M o o o o
re) re) rs) re)
W — — — —
Te] Te) Te] Te]
3 59 [5Y 39
- — — -
R _ ) % - -
S S S S
‘\ — — 1 — \_\. —
-
AAV \\
o) [Te) ﬂ Te) “ o)
~ ~ ~ ~ M
o o me.J/ o ///' o —=
) T = ) \ ) Aﬂ
/ m.
HV'
1) 0 O\ T2 o =
N 59 Y 39
T 7
anH“
—
y 2N
H B
—— A\I.\'
o o o | o I
o © © < N o © o) o [Te) o [Te) o o o o o o o [Te) o [Te) o [Te) N o o ©
™ N N N N ~ — ~ ~ © © [Te) rs) =] o =) =] S . . . . . . . . . .
Te] o o o Te] ™ N N — — o — — o o
N 1Y — —

175

150

125

100

75

50

25



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS ERE
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G3-4
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BEXRERLPH (10.35) 5i8EPH (6.5) IREWR K, BT
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06:30 197 130.0 2.808 FA| {Ri%e06:30 Bzh (KRAEESE)
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LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.




G3-4_0, Day=28 (2025-06-09)

1990 VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000
100 -
1440
50 753—1000
- 500
74 Warning: lcol ['FVI',|"FVO'] missing 126
3 B
A159( WE ”185
I maxM
& 100 1 =+ 30
e L
— =
= 50 - 25
=
o - 20
1.0
4
0.8 4
0.6
0.4 4
0.2 4
Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=2500. 0, setECB=2500. 0 —¢—  ECBx10%
° [ ] ECC
2600 -
---------------------- —% ¥ ¥ - % BRI EEEom e phaillele bt bbbl bt Ll
2400 ( ) ()
°
® Y ([ ® o Y ® o o © o0 o ,
104 optPHO=6.5. setPHB=6.5 —%¢—  PHBx10%
o PHC
8_
6_
1
5 400 § ByInik @D31 01:36: ET=2072 Fg=2280.0 Ro=476.0 ¢ 3000
= 1
= 300 A :
< \ - 2000
< 200 A :
E I L 1000
— 100 - : "R R E RN e
- : I_IJ_' | |
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
LM TEE(EE % | | M | f | R | R [ ® | m | m | m | m | 18| 08| ™ | ™ | | | B | m | m | m | & |00
< 1
= 3004 ByEt @D28 19:08: ET=1359 Fg=1440.0 Ro=nan -
< : - 2000
< e o—o—=o
= ' o oo [ 1000
o
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
SO TERZZ 22| B | B | B | W 32 2522132122220 B 22222212225 22185] & | & | 500
c 1
< 300 { ByWoFy @D31 01:36: ET=753 Fg=780.0 Ro=117.0
< : - 2000
< 200 - 1
:E’ : - 1000
i 100_M 1
1 e
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 ‘:§\~—?§_7 20 21 22 23 0
0slBZ B Ba| W | W | B | W 3222122821222z 00| W 325212252152 122(82] & | &
0.6
0.4 4
0.2 4
0.0
2000 1 | f
[ ] | _obs
1500 - —@— PPFD obs
1000 -

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



30 A

28

26 -

24 -

32 -

30 A

28

26 -

34 A

33 A

32 -

31

m=390, FV0=0 m=450, FV0=0 m=545, FV0=0

- ME 28 1 - MNE —-e— ME - ME
30 -
26 - 301
28 -
24 - 28 -
i 26 -
22 26
20 A 24 |
T T T T T T T T T T T T T
400 600 800 1000 390 395 400 450 455 460 545 550 555
m=640,m FV0=0 m=685,m FV0=0 m=755,m FV0=0 m=820,m FV0=0
32 4
—— ME —— ME - ME 32 1 —— ME
30 - 20 -
30 -
o
28 28 -
28 -
26 26 7
26 -
T T T T T T T T T T T T
640 645 650 685 690 695 755 760 765 820 825 830
m=865,m FV0=0 m=910,m FV0=0 m=960,m FV0=0 m=1010m FVO=0
—6— MF 33 —o— ME 37 —e— ME 24 ] —o ME
32 337
33 -
31 32 1
32 -
30 - 31 -
29 - 20 31
28 -
29 - 30 -
T T T 27 - T T T T T T T T T
865 870 875 910 915 920 960 965 970 1010 1015 1020
m=1055m FV0=0 m m=390,m FV0=0 m=450,m FV0=0
32 1 i
—— ME —— MW 21 —— MW —— MW
30 - 06 - 28 -
28 - 25 - 27
26 24 - 26
24 - 23 - 25 -
22 - 22 24
1055 1060 1065 400 600 800 1000 390 395 400 450 455 460



m=545, FV0=0 m=640, FV0=0
—o— MW 98 - —— MW
28
27 A
27 A
26 -
26
25 A
25 A
T T T 24 T T T
545 550 555 640 645 650
m=820,m FV0=0 m=865,m FV0=0
—— MW —0— MW
29 -
29 A
28
28 -
27 A
27 A
26
T T T 26 L T T T
820 825 830 865 870 875
m=1010m FVO=0 m=1055m FVO=0
—o— MW —— MW
31 . 0 _ — 31 .5 1 -
30. 5 31.0 A
30. 0 - 30. 5 A
29.5 + 30.0
29.0 +
29.5 A
28. 5 A
29.0 +
1010 1015 1020 1055 1060 1065

m=685, FV0=0

29 ~

28 A

27 A

26 -

25 A

—O—

M_W

685

T T
690 695

m=910,m FV0=0

28.5

28.0 -

27.5 -

27.0

——

M_W

910

915 920

m=755, FV0=0
29 - —— MW
28 1 \“’—‘\'
o
27 +
26 +
25 A
T T T
755 760 765
m=960,m FV0=0
—-— MW
30 +
29 +
28 +
27 - T T T
960 965 970




hour

:00 -

:00

:00

:00

:20

:20

145

105

:10

:15

100

80

- 60

- 40

§_

%

Q)

)_{?
5

N
-
4
%

%
L
—&&

Y

2
%
.

%
%
N
“%

&

£

%,
&

)
-

q§4§§
- %
%

&%‘ %‘ P

%



G3-4

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

06:00 131 130.0 2. 808 5| {Ri%@06:00 B3 (FAAERSE)
07:00 131 130.0 2. 808 = {RRi8007:00 B (RFAEEE)
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12:45 131 130.0 2.808 E| {Rige12:45 Bzh (GRE{ERSE)
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